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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 25 1  

2 (a) 105 002 1  

 (b) 110 000 1ft  

3 8x + 5y   cao 2 B1 8x or 5y in final answer 

4 (a) 7 × (6 − 3) + 5 1  

 (b) 8 − 6 × (4 − 1) 1  

5 

21

11

, 52.4%, 0.525,

211

111

 

2 M1 for conversion to decimals or %, allow 1 error 

0.5238…, 0.524, 0.525, 0.526  

or B1 for 3 in correct order 

SC1 correct but reverse order 

6 8 2 M1 for 240 or 0.3 seen or figs 24 ÷ figs 3  

7 112 2 M1 for 240 ÷ (7 + 8) × 7 

8 (a) 211   cao 1  

 (b) 216   cao 1  

9 ($)138 2 M1 for 120 × 1.15   oe 

SC1 answer 18 

10 (x =) −3   (y =) 5 2 M1 for correctly eliminating one variable 

11 (x =) 3.5  2 M1 for 2x − 3 = 2 × 2 or better 

2

2x

= 2 +

2

3

 

12 (a) 1.28 × 10
5

 1  

 (b) 128 500 1  

13 882 2 M1 800 × 1.05 × 1.05 

14 5h(g
2

 + 2j) 2 B1 for 5(g
2

h + 2hj) or for h(5g
2

 + 10j) 

15 298.79   cao 2 M1 for 500 ÷ 1.6734 

16 20x
9

   cao 2 B1 for kx
9

or 20x
k

 

17 130 2 M1 for 26 × 500 000 or 1 cm represents 5 km   oe 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 (a) (i) 15 35 1 Accept 3.35 pm 

Condone 1535 pm 

  (ii) (0)4 20 pm   cao 1  

 (b) (i) 16(.00) 1  

  (ii) 96(.00) 2 M1 for 2 × 24 + 3 × their (b)(i)   seen or implied 

2 (a) 52.2(%) or 52.17… 1  

 (b) 11000 − (32 ÷ 100 × 11000)    

 or (68 ÷ 100 × 11000) 

M1  

  (=) 7480 E1 Must see this for the second mark. 

 (c) 8293 or 8290 or 8293.2 

 or 8293.21   as final answer 

3 Either M1 for 7480 × 1.035
2

   oe 

or M1 for 7480 × 1.035 = 7741.8  

and their 7741.8 × 1.035 

(M1 implied by 8012.76...) 

Then M1 dep for completion of method for the 

third year 

If zero SC1 for answer 813.(2…) 

 (d) (i) 4 400 1  

  (ii) 4 950 1  

  (iii) 1 650 1ft 11 000 − their (d)(i) − their (d)(ii) 

 (e) 8 : 9 : 3   cao 2 B1 for 40 : 45 : 15   oe   seen or correct  

non-integer ratio 
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8 (a) Correct construction with arcs 2 B1 for two correct lines without arcs 

or B1 for accurate arcs seen 

or B1 for 1 correct line with 2 arcs seen 

SC1 for AC = 8 and BC = 10 correct with arcs 

 (b) (i) Correct construction with arcs 2ft ft their (a) 

B1ft for accurate line drawn without arcs 

or B1ft for accurate arcs seen 

or B1ft for accurate line with arcs bisecting 

another angle 

  (ii) 4.2 to 4.5 1ft Strict ft their b(i) with intersection on opposite 

side of triangle 

 (c) (i) Correct construction with arcs 2ft ft their (a) 

B1ft for accurate line drawn without arcs 

or B1ft for two pairs of accurate arcs seen 

or B1ft for accurate line with arcs, bisecting AB 

or AC 

  (ii) 129° to 133° 1ft Strict ft from their C on triangle, their Y on one 

side of triangle and their Z on their intersection 

of b(i) and c(i) 

 (d) Correct quadrilateral shaded 1 From their triangle 

9 (a) (i) 750 3 M2 for 0.5 × 12 × 5 × 25  seen or implied 

(M1 for 0.5 × 12 × 5 or M1 for their area of 

cross-section × 25) 

  (ii) 0.72 2ft ft their (i) × 0.00096    

SC1 for 720 (or ft their (i) × 0.96) 

 (b) (i) 5
2

 + 12
2

 M1  

   169  M1  

  (ii) 64.8(0)   www4 4 M2 for 2 ×

2

1

× 12 × 5 + 25 × 13 + 25 × 12 + 25 × 5 

   (M1 for any three correct) 

M1 for their area × 0.08 

10 (a) (i) 1200 1  

  (ii) 1200 + pw 1ft ft their (i) + pw 

  (iii) 

p

pw

+

+

15

1200

 2ft ft their (ii)/(15 + p) 

   M1 for ÷ (15 + p) 

 (b) (i) 96 2 M1 for 3 (4)(5 +

2

1

×6) or better 

  (ii) 7 3 M1 for 84 = 3b(3 +

2

1

×2) or better 

   A1 for equation 12b = 84   oe   correct kb = l 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Marks 

1 847 1 

 

 

2 (a) 20 376 

 

(b) 20 400 

1 

 

1ft 

 

 

Their (a) to nearest 100 

3 (a) 3 

 

(b) 3 

1cao 

 

1 

 

 

4 (a) Trapezium 

 

(b) Parallelogram 

1 

 

1 

Do not allow Trapezoid  

 

 

5 100 2 M1 for 
15

600

+
(×1) 

If zero, SC1 for answer of 500 

 

6 124 or 123.8  

or 123.83 to 123.92  

2 M1 for π × 6.28
2

 

7 0.54 2 M1 for 

100000

200007.2 ×

 oe  

or SC1 for figs 54 in answer 

 

8 (a) 10 

 

(b) 9 

1 

 

1 

 

9 22.5 oe 3 B2 for 180 = 5x + 2x + x oe or better 

B1 for 2x or 6x marked in the correct place on 

the diagram 

10 x = 13 

y = −9 

3 M1 for consistent multiplication and 

addition/subtraction. 

A1 for x = 13 or A1 for y = –9 

11 

12

26

– 

12

7

  or 2 – 

12

5

 oe
 

 

1

12

7

 or  

12

19

oe 

M2 

 

 

A1 

M1 for 

6

13

 − 

12

7

 or 2

12

2

 − 

12

7

 or  

6

1

 − 

12

7

 oe 

 

12 (a) 1738.3 

 

(b) 2.87 × 10
4

 

 

(c) 6.5 

1 

 

1 

 

1 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Marks 

1 847 1 

 

 

2 (a) 20 376 

 

(b) 20 400 

1 

 

1ft 

 

 

Their (a) to nearest 100 

3 (a) 3 

 

(b) 3 

1cao 

 

1 

 

 

4 (a) Trapezium 

 

(b) Parallelogram 

1 

 

1 

Do not allow Trapezoid  

 

 

5 100 2 M1 for 
15

600

+
(×1) 

If zero, SC1 for answer of 500 

 

6 124 or 123.8  

or 123.83 to 123.92  

2 M1 for π × 6.28
2

 

7 0.54 2 M1 for 

100000

200007.2 ×

 oe  

or SC1 for figs 54 in answer 

 

8 (a) 10 

 

(b) 9 

1 

 

1 

 

9 22.5 oe 3 B2 for 180 = 5x + 2x + x oe or better 

B1 for 2x or 6x marked in the correct place on 

the diagram 

10 x = 13 

y = −9 

3 M1 for consistent multiplication and 

addition/subtraction. 

A1 for x = 13 or A1 for y = –9 

11 

12

26

– 

12

7

  or 2 – 

12

5

 oe
 

 

1

12

7

 or  

12

19

oe 

M2 

 

 

A1 

M1 for 

6

13

 − 

12

7

 or 2

12

2

 − 

12

7

 or  

6

1

 − 

12

7

 oe 

 

12 (a) 1738.3 

 

(b) 2.87 × 10
4

 

 

(c) 6.5 

1 

 

1 

 

1 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Marks 

1 847 1 

 

 

2 (a) 20 376 

 

(b) 20 400 

1 

 

1ft 

 

 

Their (a) to nearest 100 

3 (a) 3 

 

(b) 3 

1cao 

 

1 

 

 

4 (a) Trapezium 

 

(b) Parallelogram 

1 

 

1 

Do not allow Trapezoid  

 

 

5 100 2 M1 for 
15

600

+
(×1) 

If zero, SC1 for answer of 500 

 

6 124 or 123.8  

or 123.83 to 123.92  

2 M1 for π × 6.28
2

 

7 0.54 2 M1 for 

100000

200007.2 ×

 oe  

or SC1 for figs 54 in answer 

 

8 (a) 10 

 

(b) 9 

1 

 

1 

 

9 22.5 oe 3 B2 for 180 = 5x + 2x + x oe or better 

B1 for 2x or 6x marked in the correct place on 

the diagram 

10 x = 13 

y = −9 

3 M1 for consistent multiplication and 

addition/subtraction. 

A1 for x = 13 or A1 for y = –9 

11 

12

26

– 

12

7

  or 2 – 

12

5

 oe
 

 

1

12

7

 or  

12

19

oe 

M2 

 

 

A1 

M1 for 

6

13

 − 

12

7

 or 2

12

2

 − 

12

7

 or  

6

1

 − 

12

7

 oe 

 

12 (a) 1738.3 

 

(b) 2.87 × 10
4

 

 

(c) 6.5 

1 

 

1 

 

1 
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13 3245 3 M1 for 3000 × 1.04
2

 

A1 for 3244.8 

If zero, SC2 for answer of 245 

If zero, SC1 for their answer corrected to 

nearest dollar 

14 (a) (0)8(.)01(am)  

 

(b) 78.4 or 78.38 to 78.39 

1 

 

3 

Not 8.01 pm 

 

M2 for 827 ÷ 10.55 

 

or M1 for figs 827 ÷ their time 

15 (a) (i) 9 

 (ii) 15 03, 3.03pm 

 

(b) (i) 7 or −7 

 (ii) 17 

1 

1 

 

1 

1 

 

16 (a) 84° 

(b) 10 

(c) 60 

 

(d) 

360

96

 or 

60

16

 

1 

1 

1ft 

 

1ft 

Check diagram 

 

ft their (b) × 6  where (b) is an integer 

 

ft 

 their 

16

(c)

oe  where (c) is an integer 

17 (a)
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

2

6

 

(b) C marked at (1, 2) 

(c) 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

−3

4

 

(d) 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛−

4

12

 

1 

1 

1 

1 

 

18 (a) 66° 

 

(b) 114° 

 

(c) 33° 

2 

 

1ft 

 

1ft 

M1 for 90° clearly identified as A 

 

180 − their (a) 

 

2

their 180 (b)−

   or   

2

their (a)

 

19 (a) (i) x + 7 

 (ii) 3x 

 

(b) (i) x+their (a)(i)+their (a)(ii)=32 

  or better 

 (ii) (x =) 5 

 

 

(c) 12 

 

1 

1 

 

1ft 

 

2ft 

 

 

1ft 

 

 

 

ft dependent on 2 algebraic expressions in (a) 

 

M1 for 5x = 32 − 7 oe 

ft their (b)(i) with M1 for ax = b 

and A1 if answer is an integer. 

ft their (b)(ii) substituted into their (a)(i)  

or their (b)(ii) + 7 evaluated correctly 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Marks 

1 64 1cao  

2 52 1  

3 

 

 

(a) 

10

3

 or 0.3 or 30% 

 

(b) 0 or 

10

0

 or 0% 

1 

 

1 

 

4 58.25  Y  d  <  58.35 1,1 SC1 for both correct values but reversed  

5 

 

Working must be shown.  

 

2 

 

M1 

9

14

and 

9

16

    M1 

8

7

16

14

= oe  

or visible cancelling  

6 

 

0.8
2

 

 

2 

 

M1 conversion of 

27

16

(= 0.5(9..)) and  

0.8
2

 (= 0.64) to decimals seen
 

7 5.51 × 10
3

 2 B1 for 5.508 × 10
3

 or figs 551 

or 5.5 × 10
3

 

8 euros (with correct working)  

or (6)€  

2 M1 one of 6 × 1.9037 or 11.5 ÷ 1.9037 

or 11.5 ÷ 6 seen 

9 

4x
–24

 or 24

4

x

 2 B1 4x
n

 B1 24

x

k

or  kx
–24

 for any numerical k, n 

10 14.4(……)  3 M2 for )9(17
22

− or 

M1 for 17
2

 = x
2

 + 9
2

 or better seen 

11 (a) (0)700 or 7 am  

 

(b) 1700 or 5 pm 

2 

 

1 

M1 100 – (5 × their(22 – 6) + their(13 – 8))  

or better  soi 
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12 (a) 

 

 (b) 

1.646 × 10
7

 

 

3.32 × 10
–2

  

1 

 

2 

 

 

B1 for 0.0332 seen or 3.3 ×10
−2

 as answer  

or B1 for 3.32 × 10
k

 

13 (a) 

 

 (b) 

36 

 

Correct working 

1 

 

2 

 

 

M1 for 

6

7
 oe improper fraction 

M1 for 

21

12

 = 

7

4

oe or visible cancelling 

14 (a) 

 

 (b) 

(0).55 

 

250 

1 

 

2 

 

 

M1 for 35 000 ÷ 140 or SC1 for figs 25 

15 (a) 

 

 (b) 

 

 (c) 

67 

 

0.00304 

 

56.35 

1 

 

1 

 

1 

 

16 (x =) 5  (y =) −1 3 M1 for consistent multiplication and add/subtract 

as appropriate. 

A1 for 1 correct answer. 

17 (a) 

 

 (b) (i) 

 

  (ii) 

Reflex 

 

Drawing of a trapezium 

 

Trapezium 

1 

 

1 

 

1 

 

 

Ignore labels and no arrows as long as a 

reasonable sketch. 

18 127.31 cao 3 M1 for 120 × 1.03
2

 

A1 for 127.308 

If M0 award SC2 for 7.31 or 247.31 

19 (a) 

 

 (b) (i) 

 

  (ii) 

 

 

  (iii) 

17 

 

−5.5 

 

−8 

 

 

4 

1 

 

2 

 

2 

 

 

1 

Allow −17  
M1 for (−12 + −13 + −10 + 4 + 4 + −6) soi ÷ 6 

 

M1 for method of finding mid-value 

20 (a) 

 

 

 (b) 

 

 (c) 

Straight ruled line from 

(08 10, 200) to (08 30, 900) 

 

5 

 

1.8 

1 

 

 

1 

 

4 

 

 

 

 

 

M1 for total distance ÷ total time 

M1 for converting time to hours 

M1 for converting metres to km 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Mark 

1 (a) 

 

 (b)  
 

 (c) 

 

 (d)  
 

 (e) 

342.63 

 

280  
 

71.4 or 71.42 to 71.43 

 

4.12  
 

correct working 

2 

 

3  
 

1ft 

 

2  
 

1 

M1 for 500 ÷ 1.4593 

 

M1 for 2 × 62 + 3 × 52 

B1 for 124 or 156 seen 

 

 

 

B1 for 6 × 0.98 seen 

B1 for 5.88 or 4 + 6 × 0.02 

 

50 × 2.54 = 127 oe  or  130 ÷ 2.54 = 51.2 or better 

2 (a) 

 

 (b) 

 

 (c) (i) 

 

  (ii) 

 

 (d) 

(triangular) prism 

 

49.6 to 50.4 

 

6 

 

42 

 

3.5 

1 

 

1 

 

2 

 

2ft 

 

2ft 

 

 

  
M1 for ½ × 4 × 3 oe 

 

M1 for their (c)(i) × 7  
M1 for their (c)(ii) ÷ (3 × 4) oe 

3 (a) (i) 

 

  (ii) 

 

 

 (b) 

 

 (c) 

 

 

 

 

 (d) 

 

 

 (e) 

10 

 

8 

 

 

7fg – g
3

 

 

6h(3h – 2j) 

 

 

 
 

8

15−t

 

 
9 

2 

 

3 

 

 

2 

 

2 

 

 

 

 

2 

 

 

3 

M1 3 × 2 − −4 or better  
M1 for 19 = 3m − 5 oe 

M1 for m = (19 + 5) ÷ 3 oe  
B1 for 7fg or B1 for –g

3

 

 

B1 for partial factorisation 2(9h
2

 – 6hj) or  

3(6h
2

 – 4hj) or h(18h – 12j) or 6(3h
2

 – 2hj) or  

3h(6h – 4j) or 2h(9h – 6j) or B1 for 6h(ah – 2j) or 

6h(3h – bj) 

 

M1 for correct first step 

or M1 for correct second step ft 

 

M1 for 3p − 15 

M1 for collecting their terms 2p = k or  kp = 18 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Marks 

 
1 (a) (i) 

 
3000 ÷ ( 4 + 7 + 8 + 5) 

and multiply by 7 

 
2 M2 for 

24

7

 × 3000 

 

M1 for 3000 ÷ (24 or their clear attempt at total) 

  (ii) 500 www cao 2 M1 for 4 ÷ their 24 × 3000 oe 

or 
7

4

 × 875 

 (b) 
1

3  

2 B1 for 

24

8

 or 

12

4

 or 

6

2

 oe seen or SC1 

5

2

 

 (c) 560 2 M1 for 64 ÷ 100 × 875 or 0.64 × 875 oe 

 (d) 23.5   or   23.52 to 23.53 3 W1 for 105 − 85 implied by 20 

 

M1dep for their (105 − 85) ÷ 85 × 100 

 (e) 5660 3 B2  for 5660.48 or 5660.5 or 660 

 

If B0 then M1 for )

100

4.6

1()

100

4.6

1(5000 +×+×  or 

better 

2 (a) (i) Enlargement 

(Scale factor) 
2

1

−  

(centre) origin oe 

1 

1 

1 

 

Independent marks 

  (ii) 12 2 M1 for 0.5 × 6 × 4 or SC1 for –12 

  (iii) 15.7 to 16.5(cm) 1  

 (b) Image (0, −2), (−6, −2) and (−4, −6) 1  

 (c) Image (2, 0), (2, 6) and (6, 4) 2 SC1 rotation 90° anti-clockwise or  

90° clockwise about any other point 

 (d) Reflection  

 

y = −x oe 

1 

 

1 

 

Independent marks 

if no equation given then accept correct line 

drawn on diagram 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Marks 

 
1 (a) (i) 

 
3000 ÷ ( 4 + 7 + 8 + 5) 

and multiply by 7 

 
2 M2 for 

24

7

 × 3000 

 

M1 for 3000 ÷ (24 or their clear attempt at total) 

  (ii) 500 www cao 2 M1 for 4 ÷ their 24 × 3000 oe 

or 
7

4

 × 875 

 (b) 
1

3  

2 B1 for 
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8

 or 

12

4

 or 

6

2

 oe seen or SC1 

5

2

 

 (c) 560 2 M1 for 64 ÷ 100 × 875 or 0.64 × 875 oe 

 (d) 23.5   or   23.52 to 23.53 3 W1 for 105 − 85 implied by 20 

 

M1dep for their (105 − 85) ÷ 85 × 100 

 (e) 5660 3 B2  for 5660.48 or 5660.5 or 660 

 

If B0 then M1 for )

100

4.6

1()

100

4.6

1(5000 +×+×  or 

better 

2 (a) (i) Enlargement 

(Scale factor) 
2

1

−  

(centre) origin oe 

1 

1 

1 

 

Independent marks 

  (ii) 12 2 M1 for 0.5 × 6 × 4 or SC1 for –12 

  (iii) 15.7 to 16.5(cm) 1  

 (b) Image (0, −2), (−6, −2) and (−4, −6) 1  

 (c) Image (2, 0), (2, 6) and (6, 4) 2 SC1 rotation 90° anti-clockwise or  

90° clockwise about any other point 

 (d) Reflection  

 

y = −x oe 

1 

 

1 

 

Independent marks 

if no equation given then accept correct line 

drawn on diagram 



Yr 9 core mod 4 rev sheet 2 Answers
13)
 

14) 

�  of �2 2
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Marks 

 
1 (a) (i) 

 
3000 ÷ ( 4 + 7 + 8 + 5) 

and multiply by 7 

 
2 M2 for 

24

7

 × 3000 

 

M1 for 3000 ÷ (24 or their clear attempt at total) 

  (ii) 500 www cao 2 M1 for 4 ÷ their 24 × 3000 oe 

or 
7

4

 × 875 

 (b) 
1

3  

2 B1 for 

24

8

 or 

12

4

 or 

6

2

 oe seen or SC1 

5

2

 

 (c) 560 2 M1 for 64 ÷ 100 × 875 or 0.64 × 875 oe 

 (d) 23.5   or   23.52 to 23.53 3 W1 for 105 − 85 implied by 20 

 

M1dep for their (105 − 85) ÷ 85 × 100 

 (e) 5660 3 B2  for 5660.48 or 5660.5 or 660 

 

If B0 then M1 for )

100

4.6

1()

100

4.6

1(5000 +×+×  or 

better 

2 (a) (i) Enlargement 

(Scale factor) 
2

1

−  

(centre) origin oe 

1 

1 

1 

 

Independent marks 

  (ii) 12 2 M1 for 0.5 × 6 × 4 or SC1 for –12 

  (iii) 15.7 to 16.5(cm) 1  

 (b) Image (0, −2), (−6, −2) and (−4, −6) 1  

 (c) Image (2, 0), (2, 6) and (6, 4) 2 SC1 rotation 90° anti-clockwise or  

90° clockwise about any other point 

 (d) Reflection  

 

y = −x oe 

1 

 

1 

 

Independent marks 

if no equation given then accept correct line 

drawn on diagram 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Marks 

1 (a) 805 2 M1 for 110 × 5 + 85 × 3 

 (b) 50 2 M1 for 750 – 120 × 5 

 (c) (i) 

 

  (ii) 

90 

 

5 : 2 

2 

 

3 

M1 for 150 ÷ (3 + 2) × 3 

 

M1 for 3 × 5 and 2 × 3 or 

90ft × 5 and (150–90ft) × 3 

A1 for 450 : 180  oe or 2.5:1 or 1:0.4 

 (d) 6.5(0) 2 M1 for 5 × 1.3 oe 

 
 (e) 

 

10 www 

 
3 M2 for 100

3

30.0

×  oe (M1 for 0.30 or 30c) 

If M0 then SC1 for 100

7.2

3.0

×  (implied by 

11.1…%) 

2 (a) Accurate triangle PQR with arcs 2 SC1 for accurate without arcs or correct mirror 

image with arcs 

 (b) (i) 

 

 

  (ii) 

Accurate perpendicular bisector of PR 

with arcs 

 

Accurate angle bisector of angle P 

with arcs 

2ft 

 

 

2ft 

SC1 ft for accurate without arcs or accurate arcs 

without line or accurate with arcs of other side. 

 

SC1 ft for accurate without arcs or accurate arcs 

without line or accurate with arcs of other angle. 

 (c) Region shaded cao 1 Intended region clear 

 (d) 4.5 cao 2 SC1 for figs 45 or 3.5 or 1 cm = 0.5 km 

3 (a) 50 1  

 (b) 72 2 M1 for 288 × 90 ÷ 360  oe 

 (c) 1 1  

 (d) (i) 

 

  (ii) 

40, 96, 72 ft, 80 

 

1.67 

2ft 

 

3ft 

B1 for 2 or 3 correct or SC1 for total of 288 

 

ft their table 

M1 for (40 × 0) + 96 × 1 + 72 × 2 + 80 × 3 

M1 (dep) for ÷ total by 288 


